1 3)%EDH
DAETAEE L AR L O
TAR LI A

% e
P IS §i\% iy v
& — B RLEER It e tEx ¥
_HDA n&\lw o), EET&WW ﬁ% ~ »@6 ﬁo\_ » .DFHW ﬁ on o
i % e e % 3 “®P XS 2y o
i, 3* K ﬁa. o ﬂE» 6 N o~
i o™ Ao ® 2 & U7Sn6ﬁ 9 ME v
F =7 ST m E e Vb gRY o o 1
N \ R v ) - E\m A vm'ﬂ.,n m I 7“ _m o
o £ UORCE X% KN R I N miz It
% © P owede 3 bl SR mE Y
i 3 o ° [#p)] ’ =2} —
H 2 AR Oa ol 0 #Ltéﬁ& <t e z R
Mgz 2R | o o 5 o gy 2 8
o XSy RN €0 ﬁ&mma% & it oV
o EVy BRI oy Bo¥ 2o g
oD mfhb:/mﬁ.wéaﬁ aﬂﬂtﬁ L,&.BEWE @y o
SN SHE —-Q NiaE o N T
, 4o WSO S & BL X VN (% N oo
e MW — N )VQT-,OE i ..KE/muWNN IL\./V‘_O‘,VIC mmW N .m/mW\n/
‘ILQ,D& A6 muT of ~ O iz RN~ - L7
wow EEUS bkbﬁ)ﬁhy@ Vgl R R My B B
ﬁ #ﬁ @TALL__E_WED@ pad 2#;’0 \%E*. H/u\nlﬁ.ﬂhm E..m fvm =y T o_kl/\
R v T I(TLK(\K. H#¥ Ry E - ok | ‘,;USII.*,/_
N N ettt mfiS S 8w = m B
K HE ﬁ\bi%@&ﬁ§7t0ﬁtf EMW@%@ ET%H C(WB
i) wm&%5mﬁv¥ £SO 4ﬁg%fa %m%ﬁ SR
o WD S o ITE R o2, I, O\ IR ER A0 R ey Vg o
IO Yal = n NN A I @ﬁﬁt ﬁif P g
o en BIG Ny oo Ty o R SE Soan
o m%m@ﬁm@axﬁam%m SoK®T =S g RS
gl S e Ry
= FERN + - /.nn_H_. , R WA 2Qen (d U.l
o g SAN RS mETSES TG K 050
T S N
B =3 eIl ) o S & mR 4l 10D KO g2 i
i WS lnyﬁﬁmo%¢6*6@%ﬁ Wﬁﬂ ﬁ@@;%ﬁ m%4E6TE§
€ @iv@mam@%M@MEn 6%u@£%(%ﬁﬁb mEmpnd -~
@ —~ )Vvu: wmoA . ..n.anEmE i ’ H&*#Eu@}/ /Eﬁ_-r O ~ = R
o 810 o RARAEE g FH g 1) 2 O INPNTITIS
%\ Eu_:n %T\IL 7Em#DH .DE.K.HV.WM.@‘ ~ Em@ \..C.vlu;..e:.*/ tﬁﬂv&k 9)?»& 1/‘#5.
O HAR AR E-DEVISEVA - 4 BN Do sgES N
NPT o AR U FNT U o T2
44 13 4 T 0 . | QuEy) - kﬁkkt U
1mzﬁx?§i&ﬁ#w7 R
N 10 ::W.mf_%um.vu_ﬂm \Jlo\ \Emﬂ \Hm.*bl?hw
DR E I SHEN O

et et A
RO 3 - O v V.
m@mﬁﬁmwmm&MMﬁﬂwmmfmgé pEZay ok
e F Y ﬁ%ﬂ%&mmﬁmm mwtKMTMLﬁmaﬁWTWES:;
KRE 4 % %asamwaiwmamnmzmmwhmmwa
mE mIR EW&W&M&%@MH
2SIV

H 7 A

X 1

— 38 —



1400

“/\E\1200 -y:0_0329eo.3343x o)
& 1000 F g2 - 7888
oy 800 - o
= 600 -
ﬁ 400 |
¥ 200 |
o |
20.0 25.0 30.0 35.0
7K:R(°C)
2 sti(6A21B8M»58A7A8H)
1400 -
€ 1200 |y =0.0007*** @
S 1000 R?=0.8751
g 800
600 -
ﬁ 400 |
¥ 200 t
0
20 25 30 35

X4 st2(6 A19AM58A10H)

K& (°C)

700 -
600 | o
500 r o)
400 o
300 |
o00 | y = 8.3814%074% °
R?=0.0238 0
100 o
0 | o L & J
20 25 30 35
®6 St3(6H19AMS9H4H)
700 A 8E+07e 04
“c 600 - R’=06322 o
X 500 F o
oE 400 | o
300 |
B 200 | o
i
% 100 | o
(o]
O L 1 J
32 30 28 26
&(°C)

X8 St3(8A7HMH9A4H)

1400
“€ 1200
W 1000
800
600
400
200

KERFE(

o
oo

y = 45.129¢°%%%%
R? = 0.9202

1400

KERFE(g/m)

700
“€ 600
W 500
ol 400
i 300
it 200
¥ 100

0

1200
1000
800
600
400
200

0

30.0 20.0
Kim(°C)

100

X3 st1(8A7BAMS3A22AH)

0.0

- 0.1101x
o 5 y = 34.574e

2 _
oo R"=0.8898

o
]
(¢)

(o]

40

o

30 20
Kim(°C

y = 20.178¢%%7®

)

K5 st2(8A10BEM53H22H)

10

R? = 0.6708

30

20
Kim(°C)

10

X7 st3(9A4BM53H22R)



